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SUMMATIVE ASSESSMENT -I (2011)
danfora wen—I 480013
SOCIAL SCIENCE / sHifsie fagm=
Class - IX / s&hem—IX

Time allowed: 3 hours Maximum Marks: 90

fAyiRa w99 : 3 goe AP aH 3P : 90

General Instructions :

(i)  The question paper has 31 questions in all. All questions are compulsory.

(i) Marks are indicated against each question.

(iii) Questions from serial number 1-10 are Multiple Choice Questions. Each question
carries one mark.

(iv) Questions from serial number 11 to 22 are 3 mark questions. Answer of these
questions should not exceed 80 words each.

(v)  Questions from serial number 23 to 30 are 5 mark questions. Answer of these
questions should not exceed 120 words each.

(vi) Question number 31 is a map question of 4 mark from Geography only. After
completion, attach the map inside your answer book.

=g A

(i) AU ¥ o 31 57 & | IS g 3rfvard 2 |

(i) UIP U & AW 9D 3P ford §U 7 |

(i) ue F®&T 1 A 10 T6 QRGN T B | TS YT 1 3(F &l 2 |

(iv) U &1 11 9 22 O TS U9 3 3 BT g | 399 I UAP U &I Sk 80 Il A
31T T8l BT ARy |

(v) ed %7 23 & 30 OF YD UeH 5 3d P 2 394 o IS U BT IR 120 IET A
31 T8l BT ARy |

(vi) U AT 31 dad Pild | AFEE SR 4 3@ BT U 7 | AFE R SaR fokad &
qE SHHT 37U IR GRABT B 3R 3G B IiY ST |
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What did the Red Cap worn by ‘Sans Culottes” in France symbolize? 1

(a) Liberty (b)  Brotherhood |@ myCBSEguide.com
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() Love (d) Equality
Wg H 9 Fod F oo Ad 3T F fRHwT wdisw off ?

(a) T (b) =HA
© (d) W
What was the name of the direct tax paid by the third estate to the state ? 1
(@) Tithe (b) Taille
(c) Livre (d) Revenue

TR T2 gR1 U9 i T&3 ST ol WoaeT o oht =T8T 97 ?

(@ === (b) =rd
() fom (d) TSR
Which one of the following groups of states has common frontiers with China ? 1

(@) Jammu and Kashmir, Himachal Pradesh, Uttarakhand and Arunachal Pradesh.
(b) Rajasthan, Punjab, Jummu and Kashmir and Arunachal Pradesh.

(c)  Chattisgarh, Bihar, Jharkhand and Jummu and Kashmir.

(d) Bihar, West Bengal, Uttarakhand and Himachal Pradesh.

frfafed T2 wEl ¥ vy gqe &t 99 <= % w1 fierd 72

(a) ] TS IR, feA=e Tew, STETE SR SHUES Yev |
(b) ST, GSTTel, S o HHI qeT STE0T=ed a3 |

() BTG, TaER, AREUS qU1 ST o HIHR

d) foeR, uftem de, IHrEve iR feare W)

Which one of the following is not a tributary of the River Ganga ?

(@) Yamuna (b) Beas
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() Ghaghra (d) Kosi i%]nyCBSEL{{H ide.com

9 | S S T ) HEEe el Tl § 2
(@) JgT (b) =A™
() =W (d) i

How many years did Pinochet rule Chile ?
(a) 17 (b) 20
(c) 25 (d 10
SR TUAI | fepa =il qeh foredl /R wme fehan?
(@ 17 (b) 20

€ 25 d) 10

Which one of the following countries does not have veto power in the Security Council

of the United Nations ?
(@)  United States (b)  Britain
() Germany (d) China
frefafaa § 9 frg <9 = 9gaa T o1 gRen ufiag § oSt wifed o T2 § 2
(a) EIH TF SHER (b) foes
() A (d) =

According to the Indian Constitution, what does the word ‘Secular’ means ?
(@) The government has complete control our religious matters.

(b)  All citizens have right to vote

(c)  Allcitizens have right to equality

(d) Allcitizens have complete freedom to follow any religion
TR GTe & AR ¢ eifderdn’ <t o e € 2

() TR A gH gl A W e R
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10.

11.

(b) @t AT 1 A 1 AER T 7
() Tt ANTIERT ShT THTAT hT STTIHR W T |
(@) Tt st w1 foreht off end 1 A R Ol wde B

Minimum wages for a farm labourer set by the Government is :

(@ Rs.80 (b) Rs.120

(© Rs.90 (d) Rs.60
TR GRT FHIoATd FfHer ot =JAaH Tergd forat et 1€ § 2

(@) 80®w (b) 120 €9

© 90 & W d) 60 &

Which one of the following is related to the tertiary sector ?
(@) Agriculture (b) Forestry
(c) Mining (d) Communication

frefofaa & @ =M, gdes &os & TEfed g2

(@) FMW (b) =

() @I (d E=R

What was the literacy rate of India in 2001 ?
(a) 60% (b) 50%
(0 65% (d)  75%
2001 H RA ¥ WG < 41 off 2
(@) 60 Hicwrd (b) 50 wferd
() 65 e (d) 75 gfae

Describe any three problems faced by the Weimer Republic.

AR TR & A i d i 99 gaean off 7 9o sifeg |

OR
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12.

13.

14.

15.

16.

17.

18.

How did the Revolution of 1905 prove to be a dress-rehearsal of the Revolution of 1917 ?

1905 ! &1 Hifd fre aw& 1917 i Hifd 1 qeiva™ fag g ? i@

Explain any three points to prove that Nazi rule was barbarious.

=l 1 forgall sl = & < T HIfST fon Tt I o o |

OR
Explain the ideology of the three power groups present in the Russian society i.e. the
Liberals, the Radicals and the Conservatives.

w9 % TS H ARG SeRA, YEined iR wfeardt @1 wfadl ot faaramist ot =
HITST |

What were the three main contributions of land routes to India in ancient times ?

UTEA h1el H, YRA i $TR 3T 9ol TATHE o ARGH & Tl di forgstl il S hifsg |

Mention the nature of geology and topography of the Himalayas, the Peninsular plateau
and Northern plains.

femTera, YEEdE 18R iR ST HeW # y-fogm iR Tod oTfaEl &t uRfd @1 ™
SIS |

Explain the types of tectonic plate movements responsible for the formation of relief
features.

SFRIMH @it @t 37 fafvm it 6t samen wifse e Gifasw stefal @ fmfrgsn g 2

Explain the "National River Conservation Plan” (NRCP).

‘T TS GIRIOT ST hi SARSAT hifTT |

Why is 11 September, 1973 considered to be a big day in the history of Chile ? Explain
any three reasons.

et & sfaer o 11 faamR 1973 &1 {57 T o2 fe7 & ®9 & & 91 ST 82 FE o SR
TIF HISIT |

State any three arguments against democracy.
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3x1=3

3x1=3
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19.

20.

21.

22,

23.

24.

25.

26.
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Why do we need a constitution ? Give any three reasons. 3x1=3

& HauM F SATevashar F Tedl § 2 HIE i HRoT fafa |

What do the scientific reports indicate about the modern farming methods? Mention any ~ 3x1=3
three facts.

YR HiT o Ty | Siien R 901 SR & 7 fohgl i 721 1 Seeid it |

Explain any three disadvantages of unemployment. 1+2=3

SNSRI § B arelt bl i BI1 ohi SAREAT hifoId |

“Population is an asset for the economy rather than a liability”. Support the statement 3
with examples.
“SdEn sAderaten % fau aifia @ stfus mawfa §17 el gfed 39 wuw &t gy
RIS |
What were the Jacobin Clubs ? Describe their activities. 5
RIS FeTel R off 7 SAeh! A el 1 A HifoTy |
How was slavery abolished in France ? Explain. 5
iF H T T S IS hdl G ? AT HifS |
How did destruction of democracy take place, phase by phase under Hitler in Nazi 5
Germany ?
ST ST H, feear R fohe TR @rend ot o oA =RuTeg aiieh § ol ?
OR

Explain any five conditions which led to the Russian Civil War in 1918 - 1920. 5x1=5
1918-1920 H €9 ¥ 75 & & fou Imerl fh=l 4= aRftufai =t e i |

5

How are the Himalayas divided on the basis of regions from west to east ? Explain.
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27.

28.

29.

30.

31.

ferTea o1 9fYem & g9 i 3R, &9 % SMER R, ford yr fawfsa foran men 8 2 =amen

EdIELY .
L A
5
Highlight some common features of the non-democratic countries.
STSIHAI AR N ! F& AM fasoarsti i SR Fifsw |
5x1=5
Explain any five features of the Indian Constitution ?
W o Wi =l fenwdl g foraarsti =i s sifere |
What are the different ways of increasing production on the same peace of land ? 5x1=5
Explain any five.
T & Y & THS W AR dgH & T F1 a1 qalieh 9 ST geha &2 fR i i
SREAT hITSTT |
Explain the difference between economic activity and non - economic activity ? Give two 5

examples of each ?

anffer foma 3R Te-enfeler e o o1 3R &2 Y% & SI-S1 ISR <fera |

Two features (A) and (B) are marked on the given political outline map of India. = 2+2=4
Identify these features with the help of following information and write their correct
names on the lines marked in the map :
(A) A mountain range in Rajasthan
(B)  The Main river of the Northern Plain
And
Locate and label the following on the same political outline map of India :
(i) Garo Hills
(i)  The Eastern most meridian of India
9RA o T MU UsHifaer W Arfas § &1 a&10 (A) SR (B) sifd fR TTw €1 57 @i
= 2 TS TR Wi Heg | TR SR SR el AW AHfae fehd el W fafe
(A)  TSTEIH ot T qaid el

(B) S M ® q&A ol

iR
IRT & St Yerifes Yammtes § frefafad = foar ok s7% 7m fafaw
() TR e
(i)  9RA H HoY Y SR @l
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31B. The following question is for the visually impaired candidates only in lieu of 4x1=4
Map Q. No. 31:
Frefaiea uo shae iy anfia adanfei & fog ot 9= 31 & WA W R
(i) In which state are the Garo hills located ?

ii Which is the eastern most longitude of India ?

. —

(
(iif) Name the largest lake located in Orissa ?
(iv)  Name the longest river of the Peninsuler India ?

) TR veifeEt fore e H feer §2
(i) ¥ 1 Y ol QMR i |18 7
(i) SSrE H o g9 o) HiA 1AM FqRT)
(iv) UHEIdE 9Rd S 9a9 Tl T3 I A FaE |
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